Answer Key and Marking Scheme
Section A
1. Multiple Choice Question: Key answer
a. Key: C fedrggeex (Demodulator)

b. Key: D IHHT ®eAh! Aaal HIU g, FHeAfadrerl A7 {3 g3 | (It has cone instead of
flower, seed is naked)

c. Key: ASta A S9afaglt &1 9+ g B wshfargst 27 | (Organism A is unisexual whereas
organism B is hermaphrodite)

d. Key: B uzsirr (Parasitic)
e. Key: B 4.002 m/s?

f. Key: A. ST 9Teilehl 92T ¥H=h! dHrl oqcd del  (Density of sea water is more than
river water)

g.Key:Cyy, <v, <v. >,
h. Key: D ferT =18 fagr=t (Big Bang Theory)
i. Key: A. 3<% (Catalyst)

j. Key: C.®99 ¥ % 1 921 a¥ @& 27Ta@a  (Statement and argument 1 is correct but argument
2 is incorrect)

Section B
2. Very Short type question: Marking scheme
a. TANTH! (HEhUere |G SIS/ A(CTEATATS (q9adAg TS (FAied =X HETI0l g A

q dASF

b. & XIS A(TF a7 TO ETHT A TSTIHT SATSET AN FeAT ol q&qed fareaqnfae T

TRAPT ATATT TR &7, ST q agF
C. AYMIGHH TEHT q ogh
. b ST R T, ST q agF
e. TTCHTHITHER T gebl ATAH! 49T GfRac gam oIeHT q ugH
f. TEcaee @A 1 sk
g. BHICTZE EHAT 1 AP
h. #eg ATHTATS FAh! gTcHE gaAT qsilied eHT q AEH

I. Fig A &I gTsgi&ad &H Aihd T Fig B & aggeed el dihd aeAl q qgH
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Section C
Short Answer Type Question: Marking scheme

3 p=V_W _ Fxd os —
I QxI  IxtxI
2.2
= ko’ DM _ o gm3sT3A72 SR 9 AgH
AXSXA
4.i. IEEH ST ATl g7, QAT q ASH
ii. Frie®e® RATS TIH! T @€ T §5 ANTHT GeATSUH &5 QAT q AP
a1 A FET R AR I AGHT R AgP
5. A ST HIRT oT@HT q AgF
B T HIRT ST q agH
6. i. FHTcH HIFSTH TREFT THIU TATCHT 0T ATeX TGS, | T BIHSTHA STAD! [T a0
UERICEIl 1 Ak
ii. HIaF FREGHEER FSIH qAEE T 78 | GO RIASIHEEH SASIHN aATad Fih
WRh §r AGHl 9 <P
a A R R (qeheq AT R ATF
7. qA [GSUH =M FATCHT R AIH
Phenotype Pure black Hybrid black
Genotype BB Bb
Meiosis Meiosis
Gamete B) (B
F1 generation BB Bb BB Bb
8. 1. Wz ggwAW (Viral Infection) T 9 AgH
i, a9 7Ry fewerer/ wdr gH fefost e q ogH
a1 A HEl R I AW R ATH
9. FRUT TATATTE T AT, ATTAGT AT T T TGHT q AgH
AT EATE ATTATR AR T, T T q ISF
10. i. TECAT TET AXIHT AA &g, AGHT q aTF
ii. T8 El JATgaTE GATH! qX] TR Fra(q? TS AGHT q AEH
a0 ST HEl R I A™H] R ASH

11. TeSueht
afedl gEImerl q&ehl a (u)= 0m/s
2 398 (h)=49 m
o 9o (g)= 9.8 m/s?
We know that,

1
h=ut+§gt2

1
07‘,49=0><t+§><9.8><t2
or,49 = 0 + 4.9 x t?
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or,t =3.16s
Again,
FGT AT SITHHT T AR T80T (t1)= (3.16-1)5=2.16 s
ZraRel 33 (h)=49m
& a7 (g)= 9.8 m/s?
TN TR i (V1)=?
We know that,

h= t+1 t2

1
or,49 = u x 2.16 + 5 X 9.8 x 2.162

or,49 = u X 2.16 + 4.9 X 4.67
or,49 = u x 2.16 + 22.88
or,49 — 22.88 = u X 2.16

or,u = ﬁ = 12.09 m/s
2.16
~u=12.09m/s
feguar ¥ 9 F&r F@w q I=F
ThTSHIEd fEard Fel AT q agH
12.i. T AR IFAFHHT AGHT q ¥gh
i, ATHT AT (&7 TEROT &7 [GEc! ATHE Teargea! AT HT q H
13.i. et TSI AGHT q ASH
ii. TFIEE! aTfad TSI A@HT 1 ASH
a1 AT Fel IR AGHAT R ATH
14.i. ®ifHa TR C 1 IqAF® fdindr el grg adHr q ¥gh

ii. PIIHA FATRT A FT =21 C HI AT "Rl MM I ATIHRA Tel & | a8 B &1 w1 C &l
HTART IMEIA TGl T IATRIART TTIH AR I FET B | AT FIAhd FATFIH] JAATHT
FIAET TR C AT UfAfFaRd TaTdewad dAuewd! SErgd a7 (Rate of collision) @@
T, T AVEEH! SIFSH X Tl Bal JFATE Ifdihdrdl X I Il g TaHr A

15. i. Propane-1,2,3-triol <@HT 9 wEH
i HoHH g IEECZ
G5
H H H
16.  i. ST FErATS /BIATHT AT FRIHT ATIH /BT AT ST a1 7T Tl I AGHT § ASF
ii. ST ARTS AT IACT/ AR I FART T a7 I Tl I AGHT 9 IgF

12



Section D
Long Questions
17.i. fefSrea STarSIl e q ¥gH
ii. 8. THERT ATATSTHT AT g SATHRTHT AT Teh AR AT T SATHT IRETT A5 |
b. FTHITTE F=STAee g AMRTIA AT, TATRE AT ATAIAE SATETHT FFR T |

AT 7 FEl IR AGHT JUF FaThl 9/9 ASH (45 STF0 R ATH
iii. i T/ A RTeT ATATEARYT/ TAE AT/ AT T SO AGH § AT
18. i. WS 9 oA q TSPk
ii. BT EHT 9 ASH
i, 9fedrET & ¥ HHET &8 deHT 9 ¥ AgH W STHAT R
19. ST&UEE
i. TSP Ted, ATHN ¥ [qT T
i, afaT oS, Rifyerar g a1 o= 9er A7 AW R uTH
EEECEID]
i. Teredl 9ard T FHH AT HH @I |
i, EIT T AT Tged a1 o= Tl Ja QAT R uIH
20.
i, qTFITehT STRTIRO JHR AGHT 9 A5H
ii. aTirerg 0°C 3f@ 4°C TV qdrser ocd dgq s, ¥ 4°C 2@10°C I¥ qarsar ucd Hag
T, | 4°C |1 IRl qadwaT &l Ocd gvg, | aQHT R uIH
iii. STSRATAHAT drEdel FAZHT UTHl STHUT SREBHIAR] TIHAT HIGN Sad @ a1 SIS ATHAT
UTHIRl TSI Thed 9dg a1 dT el Ia¥ ofdHT q ISF
21

i, a. PRI bl SIHT AT (=T aTal greg T b oI~ehl [o[=[H] Teal SgHl TIaal gre
b. FHHFT TAIBT bralb [drg AP T FHrbd A~AB] Hralh0] [owg AATEAaP greg AGHT AT
A Fel R IR AQHT R AIH
ii. ETATHT IepTeTeRl a7 el (3 X 108 m/s) T HI=H TR a7 HH (2 X 108 m/s) &3 | Tehrerehl
T TSI TR ATHHATS (97l T YRR o7 HH AUH] HIAHATS T AIAH =5 @HT 3

9IF

22.i.ﬁAWHﬁW|AW§W@@@W q wgH
ii. a7 B Tedtiges anfererent 2 fufeogwr ug or@wm q ASH
iii. a1 AT B e =1 Aifirerert s KO o q aF
iv. 774 B @5 fohd p SAFAT AM@UHT 27 [ohAlh TAFT ATqH Soded p TIGAHT T8 @l 9

EEC

23. THT ATHISIFT Ford HICAT 3 usH
fstept <7l fefewer GoR wte SRf gase e | e 4»‘?];4 [
T3 AT el ETESIAINE TRTHT GATSUR Bl T - ‘ < N fsmd
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